

HP Workstations Quote # 033425

Date Issued: 10.30.2024 Date Expires: 01.20.2025

Prepared For
City of Spring Lake Park
Daniel Buchholtz
1301 81st Ave NE
Spring Lake Park, MN 55432
(763) 792-7211
dbuchholtz@slpmn.org



Prepared By
Computer Integration Technologies, Inc.
Colton Jesse
2375 Ventura Drive
Woodbury, MN 55125-3930

(651) 255-5732 colton.jesse@cit-net.com

Laptops

Description	Qty	Price	Ext. Price
HP ProBook 440 G11 14" Notebook - WUXGA - Intel Core Ultra 7 155U - vPro Technology - 16 GB - 512 GB SSD - English Keyboard - Pike Silver - Intel Chip - 1920 x 1200 - Windows 11 Pro - Intel - In-plane Switching (IPS) Technology - IEEE 802.11ax Wireless LA	14	\$1,080.00	\$15,120.00

Replaces:

Dan – SLP08 - i5 256 Wanda – SLP01 - i5 256 Melissa – SLP04 - i5 256 Breanna – SLP02 - i5 256 George – SLPWKS01 - i5 256 Kristine – SLP06 - i5 256 Jeff – SLP10 - i5 256 Walter – SLP11 - i5 256 Haley = SLP05 - i5 256 Kay – SLP09 - i5 256 Wesley – no label on computer - i5 256 Anne – SLPREC03 - i5 256 Mara - SLPREC 02 - i5 256

HP Care Pack Premium Onsite Support - 3 Year - Warranty - 9 14 \$120.00 \$1,680.00 x 5 x Next Business Day - On-site - Maintenance - Labor

Subtotal: \$16,800.00

Desktops

Description	Qty	Price	Ext. Price
HP Pro Mini 400 G9 Desktop Computer - Intel Core i7 14th Gen i7-14700T - vPro Technology - 16 GB - 256 GB SSD - Desktop Mini - Intel Q670 Chip - Windows 11 Pro - Intel UHD Graphics 770 DDR5 SDRAM - English Keyboard - IEEE 802.11ax - 90 W	2	\$1,109.00	\$2,218.00
Replaces:			
Laserfiche – SLP07 - i7 256 16gb Public Works Garage - new i5 256 16gb			
HP Care Pack Hardware Support - Extended Warranty - 3 Year - Warranty - 9 x 5 x Next Business Day - On-site - Maintenance - Parts & Labor	2	\$45.00	\$90.00
		Subtotal:	\$2,308.00

Docking Stations

Description	Qty	Price	Ext. Price
HP USB-C Dock G5 for business - for Notebook - USB Type C - 3 Displays Supported - 4K, QHD, Full HD - 4 x USB Type-A Ports - USB Type-A - USB Type-C - 1 x RJ-45 Ports - Network (RJ-45) - HDMI - DisplayPort - Black - Wired - Ethernet - Windows 10, Windows	14	\$215.00	\$3,010.00
		Subtotal:	\$3,010,00

Subtotal: \$3,010.00

Shipping & Handling

Description	Qty	Price	Ext. Price
Shipping & Handling	1	\$236.80	\$236.80
		Subtot	al: \$236.80

Quote Summary

Description		Amount
Laptops		\$16,800.00
Desktops		\$2,308.00
Docking Stations		\$3,010.00
	Subtotal:	\$22,118.00
	Shipping:	\$236.80
	Total:	\$22,354.80

By signing this quote, it is assumed that CIT will proceed with placing orders for the recommended products and services. Quoted prices are based upon market pricing at the time of the quote. Due to fluctuating market conditions, pricing for third-party hardware, services, and related products are subject to change due to the market pricing in effect at the time of delivery. CIT will make commercially reasonable efforts to communicate with the customer for material price increases prior to delivery.

Beyond the standard configuration and deployment of the tool/service, additional configuration, tuning will be billed T&M.

Quotes are subject to customer credit terms and conditions.

Each of the parties hereto has caused this Schedule to be duly executed by their authorized representatives on the date expressed below. The terms of this project proposal ("Schedule") by and between Computer Integration Technologies, Inc., ("CIT") and Customer are part of, and are hereby incorporated into, the Master Service Agreement executed by CIT and Customer.

Please do not pay from quote; taxes, shipping, handling, and other fees may apply. Not all items are available for refund or exchange and must be approved by CIT prior to product return. Customers may need to work directly with manufacturers for item returns.

*Dell now prohibits returns on all products regardless of reason.

CIT requires 50% down payment upon acceptance on all orders over \$10,000 unless prior approval has been given. Additional down payment may be required if customer credit line is insufficient. Due to changing market conditions, partial invoices may be created as the hardware is shipped

Computer Integration Technologies, Inc. City of Spring Lake Park

Signature:	Colton Jesse	Signature:	
Name:	Colton Jesse	Name:	Daniel Buchholtz
Title:	Sr. Account Executive	Initials:	
Date:	10/30/2024	Date:	
		IP Address:	
		Email Address:	
		PO Number:	